> restart;
{} # Find Adams-Bashforth method of order s
> Ss:=4;

s:=4

> t:=n->t_0+n*h;
t:=n->t.0+nh

> L:=k->product((tau-t(n-j))/(t(n-k)-t(n-j)),j=0..k-1)
*product ((tau-t(n-j))/(t(n-k)-t(n-j)),j=k+1..s-1);

k-1 s-1
L:=k—>[H - tn-) ][ H - tn-J

j=otn-KkK-tn-j| | jSky1tn-K-tn-)

> p:=0:
for i from 0 to s-1
do
p:=p+simplify(L(i))*f[n-1i];
od:
p:=collect(p, tau);
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_S AB:=simplify(int(p,tau=t(n)..t(n+l1)));
1
AB::ﬂh(San_ngn—l-i_ 37fn—2_9fn—3)

> y[n+1]=y[n]+AB;
1
yn+1:yn+ﬂh(55fn_59fn—1+37fn—2_9fn—3)




